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Aufgabe 1

5 Punkte

Ein Partikel der Masse m bewegt sich in einer Dimension unter Einfluss einer Kraft

F (x, t) = k
x2 exp (−t/τ),

wobei k und τ positive Konstanten sind. Bestimmen Sie die Lagrange- und die
Hamiltonfunktion. Vergleichen Sie die Hamiltonfunktion mit der Gesamtenergie und
diskutieren Sie die Energieerhaltung für das System.

Aufgabe 2

5 Punkte

Man betrachte ein einfaches ebenes Pendel bestehend aus einer Masse m angebracht an
einm Faden der Länge l.
Nachdem das Pendel in Bewegung versetzt wurde, wird die Länge des Seiles mit einer
konstanten Rate

dl
dt

= −α = constant

verkürzt. Dabei bleibt der Aufhängepunkt konstant. Man bestimme die Hamilton-
und die Lagrangefunktion. Man vergleiche die Hamiltonfunktion mit der Gesamtenergie
und diskutiere die Energieerhaltung für das System.



Aufgabe 3

6 Punkte

Eine Masse M sei frei von einer reibungsfreien Ebene herunterzugleiten (mit Neigungs-
winkel β). Ein Pendel der Länge l und Masse m hänge von M herab. Finden Sie die
Bewegungsgleichungen (Man nehme z und θ als Koordinaten). Für kleine Oszillationen
finde man außerdem die Normalmoden und deren Frequenzen
(man definiere η̈ = z̈ − g sin β).

268 The Lagrangian method

6.15. Pendulum support on an inclined plane
Let z be the coordinate of M along the plane, and let θ be the angle of the pendulum
(see Fig. 6.48). In Cartesian coordinates, the positions of M and m arez

M

m

l

Fig. 6.48

(x, y)M = (z cos β, −z sin β),

(x, y)m = (z cos β + # sin θ , −z sin β − # cos θ).
(6.175)

Differentiating these positions, we find that the squares of the speeds are

v2
M = ż2,

v2
m = ż2 + #2θ̇2 + 2#żθ̇(cos β cos θ − sin β sin θ).

(6.176)

The Lagrangian is therefore

1
2

Mż2 + 1
2

m
(
ż2 + #2θ̇2 + 2#żθ̇ cos(θ + β)

)
+ Mgz sin β + mg(z sin β + # cos θ).

(6.177)

The equations of motion obtained from varying z and θ are

(M + m)z̈ + m#
(
θ̈ cos(θ + β) − θ̇2 sin(θ + β)

)
= (M + m)g sin β,

#θ̈ + z̈ cos(θ + β) = −g sin θ .
(6.178)

Let us now consider small oscillations about the equilibrium point (where θ̈ = θ̇ = 0).
We must first determine where this point is. The first equation above gives z̈ = g sin β.
The second equation then gives g sin β cos(θ + β) = −g sin θ . By expanding the
cosine term, we find tan θ = − tan β, so θ = −β. (θ = π − β is also a solution, but
this is an unstable equilibrium.) The equilibrium position of the pendulum is therefore
where the string is perpendicular to the plane.14

To find the normal modes and frequencies for small oscillations, let θ ≡ −β + δ,
and expand Eq. (6.178) to first order in δ. Letting η̈ ≡ z̈ − g sin β for convenience, we
obtain

(M + m)η̈ + m#δ̈ = 0,

η̈ + #δ̈ + (g cos β)δ = 0.
(6.179)

Using the determinant method (or using the method in Problem 6.14; either way works),
we find the frequencies of the normal modes to be

ω1 = 0, and ω2 =
√

1 + m
M

√
g cos β

#
. (6.180)

These are the same as the frequencies in the previous problem (where M moves hor-
izontally), but with g cos β in place of g; compare Eq. (6.179) with Eq. (6.170).15

Looking at Eq. (6.174), and recalling the definition of η, we see that the general
solutions for θ and z are

θ(t) = −β + C cos(ωt + φ), z(t) = − Cm#

M + m
cos(ωt + φ) + g sin β

2
t2 + At + B.

(6.181)

14 This makes sense. The tension in the string is perpendicular to the plane, so for all the pendulum
bob knows, it may as well be sliding down a plane parallel to the given one, a distance # away.
Given the same initial speed, the two masses slide down their two “planes” with equal speeds at
all times.

15 This makes sense, because in a frame that accelerates down the plane at g sin β, the only external
force on the masses is a gravitational force of g cos β perpendicular to the plane. As far as M
and m are concerned, they live in a world where gravity pulls “downward” (perpendicular to the
plane) with strength g′ = g cos β.
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